
CAPITAL BUDGETING: ALTERNATIVE FORMATS

Financial Management
I have used two basic formats to set up capital budgeting problems.  However, text books usually only illustrate the “spread sheet” format.  In this note, I introduce you to an alternative format that you may find useful, i.e., the “table” format.  You should use the format that you find easiest and most intuitive for you. 

Using the table format, fill in the appropriate items under these headings. 

Tax

Amount

Present

Item

Time

Amount
Factor

After-Tax

Value

Example:
You have been hired as the financial manager for the Red Rocks Corporation, a small cable television company in Dust Devil, Arizona.  Ms. Hustead, the president, and Mr. Dixon, the operations manager, have asked you to decide whether or not the company should purchase a local radio station which is for sale.  The asking price is $145,000.  If the station is purchased, it is estimated that an investment of $20,000 in working capital will be required throughout the time the company operates the station.  If acquired, Ms. Hustead expects to operate the station for 10 years, after which she anticipates being able to sell it for $50,000.

Revenues are forecast at $80,000 per year for the first five years and $70,000 per year for years six through ten.  Costs are estimated to run at 60% of sales.  In addition, operating expenses are anticipated to be fixed at $15,000 annually.  The station would be depreciated straight line over 10 years down to the estimated salvage value.

If Red Rocks acquires the station, the firm will be able to dispose of certain fixed assets presently owned, i.e., these assets would be redundant.  These assets have a net book value of $24,000, a remaining (straight line) depreciable life of six years, and have a current market (selling) price of $30,000.

Ms. Hustead estimates that Red Rock's required rate of return is 12 percent after-taxes.  The firm's corporate tax rate is 34%.  Red Rock's has 20,000 shares of common stock outstanding.

What is your recommendation to Ms. Hustead and Mr. Dixon?  If the station were acquired, how much would the stock price of Red Rock's change?

Table Format Solution:
Using the table format, the solution to Red Rock Corporation's decision is as follows:

 Tax

  Amount 
  Present

Item


Time
Amount
Factor
After-Tax
Value @ 12%
Station Cost
0
($145,000)
  -

($145,000)
($145,000)

Work. Cap.

0
($ 20,000)
  -

($ 20,000)
($ 20,000)

Salvage

0
 $ 30,000
  -

 $ 30,000
 $ 30,000

Tax on Gain

0 
($  6,000)
 0.34

($  2,040)
($  2,040)

Depr. Lost

1-6
($  4,000)
 0.34

($  1,360)
($  5,592)

Sales-Cash Exp.1
1-5
 $ 17,000
 0.66

 $ 11,220
 $ 40,446

Sales-Cash Exp.2
6-10
 $ 13,000
 0.66

 $  8,580
 $ 17,550

Depr. Exp.

1-10
 $  9,500
 0.34

 $  3,230
 $ 18,250

Salvage

10
 $ 50,000
  -

 $ 50,000
 $ 16,099

Work. Cap.

10
 $ 20,000
  -

 $ 20,000
 $  6,439
($ 43,848)

Since the NPV is negative, reject the project!  If the station were purchased, the wealth of Red Rock's shareholders would decrease by ($43,848)/20,000 shares = $2.19 per share.

For some, the table format is often faster than the spreadsheet format for capital budgeting problems.  I however recommend that you do everything on a spreadsheet as a way to develop familiarity with this necessary tool.

1 $80,000 - $48,000 - $15,000 = $17,000 before depreciation and tax.

2 $70,000 - $42,000 - $15,000 = $13,000 before depreciation and tax.

This approach separates out the tax savings from depreciation as a separate item.

Spread Sheet Format Solution:

Using the spreadsheet format, the solution to Red Rock Corporation's decision is as follows:

	TIME
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Station Cost
	($145,000)
	
	
	
	
	
	
	
	
	
	

	Work.Cap.
	($20,000)
	
	
	
	
	
	
	
	
	
	$20,000

	Salvage
	$30,000
	
	
	
	
	
	
	
	
	
	$50,000

	Taxes on Gain
	($2,040)
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	Sales
	
	$80,000
	$80,000
	$80,000
	$80,000
	$80,000
	$70,000
	$70,000
	$70,000
	$70,000
	$70,000

	-CGS
	
	($48,000)
	($48,000)
	($48,000)
	($48,000)
	($48,000)
	($48,000)
	($48,000)
	($48,000)
	($48,000)
	($48,000)

	-Oper. Exp.
	
	($15,000)
	($15,000)
	($15,000)
	($15,000)
	($15,000)
	($15,000)
	($15,000)
	($15,000)
	($15,000)
	($15,000)

	-Depr. Incr.
	
	($9,500)
	($9,500)
	($9,500)
	($9,500)
	($9,500)
	($9,500)
	($9,500)
	($9,500)
	($9,500)
	($9,500)

	+Depr. Lost
	
	$4,000
	$4,000
	$4,000
	$4,000
	$4,000
	$4,000
	$0
	$0
	$0
	$0

	EBT
	
	$11,500
	$11,500
	$11,500
	$11,500
	$11,500
	$7,500
	$3,500
	$3,500
	$3,500
	$3,500

	-Tax
	
	(3,910)
	(3,910)
	(3,910)
	(3,910)
	(3,910)
	($2,550)
	($1,190)
	($1,190)
	($1,190)
	($1,190)

	EAT
	
	$7,590
	$7,590
	$7,590
	$7,590
	$7,590
	$4,950
	$2,310
	$2,310
	$2,310
	$2,310

	+  Depr.
	
	$5,500
	$5,500
	$5,500
	$5,500
	$5,500
	$5,500
	$9,500
	$9,500
	$9,500
	$9,500

	Oper.Cash Flow
	
	$13,090
	$13,090
	$13,090
	$13,090
	$13,090
	$10,450
	$11,810
	$11,810
	$11,810
	$11,810

	
	
	
	
	
	
	
	
	
	
	
	

	FreeCashFlow
	($137,040)
	$13,090
	$13,090
	$13,090
	$13,090
	$13,090
	$10,450
	$11,810
	$11,810
	$11,810
	$81,810

	
	
	
	
	
	
	
	
	
	
	
	

	NPV @ 12%
	($43,848)
	
	
	
	
	
	
	
	
	
	


Note that both approaches give us the same solution. Since the NPV is negative, reject the project!  If the station were purchased, the wealth of Red Rock's shareholders would decrease by ($43,848)/20,000 shares = $2.19 per share.

I believe that for firm valuation problems, which we will be doing later in the course, the spreadsheet format is usually superior to the table format.  But I again reiterate the need for practice with spreadsheet analysis and modeling.
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